
LB 3: Parameterhaltige Funktionen - Lösungen  

© Meinelt 2007-12-20 

1) ( ) x
1k

1
x2x1k)x(f 23

k −
+−−= , 1k,Rk >∈  

a) die Nullstellen: 

  ( ) 0x
1k

1
x2x1k 23 =

−
+−− � ( ) 0

1k
1

x2x1kx 2 =�
�

�
�
�

�

−
+−−⋅  � 0x01 =  und ( ) 0

1k
1

x2x1k 2 =
−

+−−  )1k(|: −  

  � ( ) 0
1k

1
x

1k
2

x 2
2 =

−
+

−
−   

  � ( ) ( ) =
−

−
−

±
−

= 223,02
1k

1
1k

1
1k

1
x

1k
1
−  

b) lokale Extrempunkte: 

  ( )
1k

1
x4x1k3)x(f 2'

k −
+−−=  � ( ) 0

1k
1

x4x1k3 2 =
−

+−−  ( )( )1k3|: −  � ( ) ( ) 0
1k3

1
x

1k3
4

x 2
2 =

−
+

−
−  

 � ( ) ( ) ( ) ( ) ( ) ( )22222,1E
1k9

3
1k9

4
1k3

2
1k3

1
1k9

4
1k3

2
x

−
−

−
±

−
=

−
−

−
±

−
= � 

1k
1

x 1E −
=   ( )1k3

1
x 2E −

=  

  ( ) 4x1k6)x(f ''
k −−=  

  � 02
1k

1
f ''
k >=�

�

�
�
�

�

−
 � Minimum �

�

�
�
�

�

−
0;

1k
1

T  

 � ( ) 02
1k3

1
f ''
k <−=��

�

�
��
�

�

−
 � Maximum  und  ( ) ( )2k

1k27
4

1k3
1

f
−

=��
�

�
��
�

�

−
 � ( ) ( ) �

�
�

�
�
�
�

�

−− 21k27
4

;
1k3

1
H  

c) Wendepunkte: 

  ( ) 4x1k6)x(f ''
k −−=  � ( ) 04x1k6 =−−  � ( )1k3

2
xW −

=  

  ( ) 01k6)x(f '''
k ≠−=  und ( ) ( )2k

1k27
2

1k3
2

f
−

=��
�

�
��
�

�

−
 � ( ) ( ) �

�
�

�
�
�
�

�

−− 21k27
2

;
1k3

2
W  

2) ( ) 223
t xt2tx)x(f +−= , Rt ∈  
a) die Nullstellen: 

  ( ) 0xt2tx 223 =+−  � ( )( ) 0t2txx 22 =+−  � 0x01 =  und t2tx 2
02 +=  

b) lokale Extrempunkte: 
  ( )t2tx2x3)x(f 22'

t +−=  � ( ) 0t2tx2x3 22 =+−  � ( )( ) 0t2t2x3x 2 =+−  � 0x 1E =   ( )t2tx 2
3
2

2E +=  
 
  ( )t2t2x6)x(f 2''

t +−=  � ( )2tt2)0(f ''
t +−=   � 0)0(f:0toder2tfür ''

t <>−<  � Maximum 

      � 0)0(f:0t2für ''
t ><<−  � Minimum 

      � 0)0(f:0toder2tfür ''
t ==−=  � keine Extrempkt. 

     � ( )( ) ( )2tt2t2tf 2
3
2''

t +=+   � 0)0(f:0toder2tfür ''
t >>−<  � Minimum  

       � 0)0(f:0t2für ''
t <<<−  � Maximum 

  0)0(ft =  und ( )( ) ( )32
27
42

3
2

t t2tt2tf +−=+  

  � :0toder2tfür >−<  )0;0(H  und ( ) ( )( )32
27
42

3
2 t2t;t2tT +−+  

   :0t2für <<−  )0;0(T  und ( ) ( )( )32
27
42

3
2 t2t;t2tH +−+  

   :0toder2tfür =−=  � keine Extrempkt. 



LB 3: Parameterhaltige Funktionen - Lösungen  

© Meinelt 2007-12-20 

3) 2
2

34
b,a x

a2
b

bxax)x(f ⋅−+= , *Nb,a ∈  

a) Nullstellen: 

  0x
a2

b
bxax 2

2
34 =⋅−+  � 0

a2
b

bxaxx
2

22 =��
�

�
�
�
�

�
−+  � 0x01 =  und 0

a2
b

bxax
2

2 =−+  � 0
a2

b
x

a
b

x 2

2
2 =−+  

  � =+±−= 2

2

2

2

23,02 a4
b2

a4
b

a2
b

x =±− 3
a2

b
a2

b ( )31
a2

b ±−  

b) lokale Extrempunkte: 

  x
a
b

bx3ax4)x(f
2

23'
b,a −+=  � 0x

a
b

bx3ax4
2

23 =−+  � 0
a
b

bx3ax4x
2

2 =��
�

�
�
�
�

�
−+  

  � 0x 1E =  und  0
a
b

bx3ax4
2

2 =−+  � 0
a4

b
x

a4
b3

x 2

2
2 =−+  � 2

2

2

2

3,2E a64
b16

a64
b9

a8
b3

x +±−=  

  � 
a4

b
x 2E =   

a
b

x 3E −=  

  
a
b

bx6ax12)x(f
2

2''
b,a −+=  

  0
a
b

)0(f
2

''
b,a <−=  � Maximum und 0)0(f b,a =  � ( )0;0H  

 0
a4
b5

a4
b

f
2

''
b,a >=�

�

�
�
�

�  � Minimum und 3

4

b,a a256
b3

a4
b

f −=�
�

�
�
�

�  � �
�
�

�
�
�
�

�
− 3

4

a256
b3

;
a4

b
T  

 0
a
b5

a
b

f
2

''
b,a >=�

�

�
�
�

�−  � Minimum und 3

4

b,a a2
b

a
b

f −=�
�

�
�
�

�−  � �
�
�

�
�
�
�

�
−− 3

4

a2
b

;
a
b

T  

 


